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1.

1.

2.  

3. 2024 

[a] 1 3 [b] 2 3

[c] 1  2 [d]

Sol. [A]

5 - 7 

2024 

2.

1.
2.
3. MK-III

(LMV-3)

[a] 1 2 [b] 2 3
[c] [d]

Sol. [C]







3.

A.    1.

B. 2.

C. 3.

D. 4.
A B C D A B C D

[a] 3 1 2 4 [b] 2 1 3 4
[c] 1 2 3 4 [d] 4 3 2 1

Sol. [A]

1. Consider the following statements regarding
'Gaganyaan Mission'-
1. It is an Indian crew orbital spacecraft

developed under the Indian Human Space
Flight Program.

2. It is a joint mission of ISRO and NASA.
3. India's first human space flight mission will

be launched in 2024.
Select the correct statements from the above-
[a] 1 and 3 [b] 2 and 3
[c] 1 and 2 [d] None of these

Sol. [A]
Gaganyaan: is an "Indian crew" orbital
spacecraft developed under the Indian Human
Spaceflight Programme.
This is ISRO's own mission under which three
persons will be sent for 5 - 7 days in the low
earth orbit.
India's first human space flight mission will
be launched in 2024.

2. Consider the following statements-
1. NISAR is a joint project of NASA and

ISRO.
2. It will be launched into a Lower Earth Orbit.

3. GSLV MK-III (LMV-3) will be used for the
launch of Nisar.

Select the correct statements from the above-
[a] 1 and 2 only [b] 2 and 3 only
[c] All of the above [d] None of these

Sol. [C]

 NISAR is a joint project of NASA and ISRO.

 Its full form is NASA ISRO Synthetic
Aperture Radar.

 Its launch will be done by GSLV
3. Please match these-

Satellite Usage
A. ResourceSat 1. To detect marine

resources
B. OceanSat 2. Mapping and Earth

Imaging
C. CartoSat 3. To locate resources
D. RISAT 4. For Earth

Observation
A B C D A B C D

[a] 3 1 2 4 [b] 2 1 3 4

[c] 1 2 3 4 [d] 4 3 2 1
Sol. [A]
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4.

1.

2.

3. 500

4.

[a]

[b]

[c]

[d]

Sol. [D]

5.

1. C.E.-

2.
3D- II 

[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [B]

 C.E.- 20

C.E.- 25
- 3

 3-D
II 

 

 (-253°C)
(-183°C)

6.

1. NAVSTAR 
2. 2023 25 

ResourceSat: To locate the resources.
Ocean Sat: To explore ocean resources.
Cartosat: In mapping and earth imaging.
RISAT: For Earth Observation.

4. The number of correctly matched pairs among
the following is-

Defense system Country

1. Iron Dome - Israel

2. Hammer - France

3. S-500 - Russia

4. Thaad - America

[a] Only one pair is matched.

[b] Only two pairs are matched.

[c] Only three pairs are matched.

[d] All the four pairs are matched.

Sol. [D]

5. Consider the following statements-
1. C.E.-20 developed by ISRO is the most

powerful cryogenic engine of India so far.
2. Indian private space vehicle company

Skyroot Aerospace tested 3D-printed
cryogenic engine Dhawan-II.

Select the correct statements from the above
statements-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]

 The cryogenic engine C.E.- 20 developed
by ISRO was the powerful engine in India.
But at present the engine C.E.- 25 is the
most powerful engine, it has also been used
in Chandrayaan-3.

 3-D printed cryogenic engine Dhawan II
was tested at Solar Propulsion Test Facility
Nagpur by Indian private space vehicle
company Skyroot.

 In this, liquid Hydrogen (-253°C) and
liquid oxygen (-183 ° C) are used as
propellants.

6. With reference to Global Positioning System,
consider the following statements-
1. It is called Russia's NAVSTAR Project.
2. By July 2023, there are a total of 25

satellites in this system.



Page 4

3. 2 (95% )

[a] 1 [b] 2 3
[c] 3 [d]

Sol. [B]

GPS NAVSTAR 

25 2

7.

[a]

[b]
[c]
[d]

Sol. [A]

8.

A.    1.

B. 2.

C. 3.

D. 4.

A B C D A B C D
[a] 4 3 2 1 [b] 3 2 1 4
[c] 4 3 1 2 [d] 1 3 2 4

3. The accuracy of G.P.S. is up to 2 meters
(95: probability).

Select the correct statement from the above-

[a] 1 only [b] 2 and 3 only

[c] 3 only [d] All are correct

Sol. [B]

GPS is also called NAVSTAR project in US,
which stands for Navigation System with
Timing and Ranging Global Positioning
System, a total of 25 satellites are working in
this system so far, the accuracy of GPS is
measured at 2 meters.

7. Satellite launching stations are generally set
up near the equator because?

[a] The gravitational force is minimum.
[b] There gravitational force is maximum.
[c] The presence of magnetic effect.
[d] Presence of water bodies on the eastern

coasts.
Sol. [A]

Satellite launching stations are generally
located close to the equator because the Earth's
rotation from west to east gives effective thrust
to the satellite and the minimum gravitational
force is present.

8. Match

Biotechnology Statement

Vocabulary

A. Blue 1. Application of
Biotechnology Biotechnology in

Industrial Process

B. Green 2. Designing organisms
Biotechnology  to produce antibiotics

C. Red 3. Application of
Biotechnology Biotechnology in

Agriculture

D. White 4. Application of
Biotechnology Biotechnology in

the field of Marine
and Fisheries

A B C D A B C D

[a] 4 3 2 1 [b] 3 2 1 4

[c] 4 3 1 2 [d] 1 3 2 4

Sol. [A]
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Sol. [A]

9.

1.

2.
DNA 
RNA 

3.

[a] 1 [b] 2

[c] 3 [d]

Sol. [B]

DNA DNA

10.  2021 

1.
2.
3. 28-45 

[a] 1  2 [b] 1 3
[c] 2  3 [d]

Sol. [A]

 2021 

26-55 
23-50 

25-35 
11.  

1.
2. S
3.

[a] 1 [b] 2

[c] 3 [d]

9. With reference to Mitochondrial Replacement
Therapy, consider the following statements-

1. This is a type of In-vitro fertilization.

2. In this process defective mitochondrial
DNA of the biological mother is replaced
by Healthy mitochondrial RNA of a female
donor.

3. The basic characters of the child remain
unchanged by this process.

Select the incorrect statements from the above-

[a] 1 only [b] 2 only

[c] 3 only [d] None of these

Sol. [B]

Mitochondrial replacement therapy is a type
of In-vitro fertilization. It also known as the
three-parent baby procedure.

In this process defective mitochondrial DNA
of the biological mother is replaced by
Healthy mitochondrial DNA of a female
donor.

10. With reference to the Surrogacy (Regulation)
Act, 2021, consider the following statements-
1. It allows ethical and altruistic surrogacy.
2. Gender selection is not allowed in this.
3. In this, the age of the surrogate woman

has been fixed at 28-45 years.
Select the correct statement from the above-
[a] 1 and 2 only [b] 1 and 3 only
[c] 2 and 3 only [d] All are correct

Sol. [A]
According to the Surrogacy (Regulation) Act
2021, no gender selection is allowed in this
and the age limit for eligible couple - men has
been set at 26-55 years and for women at 23-
50 years.
In this, the age of the surrogate woman has
been fixed at 25-35 years.

11. Consider the following technical phenomena-
1. Oil Zapper
2. Oilivorous-S
3. Pseudomonas putida
Which of the above are used in
bioremediation?

[a] 1 only [b] 2 only

[c] 3 only [d] All of the above
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Sol. [D]

12. 9 

1.

2.

3.

[a] 1 2 [b] 2 3

[c] 1 3 [d]

Sol. [B]

13.

1.

2.

3.

 

[a] 1 [b] 2

[c] 3 [d]

Sol. [D]

14.

1.
IVF 

2.

Sol. [D]

Using microorganisms to reduce the effect of
pollutants present in the environment (soil,
water, atmosphere) is called bioremediation.
These Bacteria break down complex petroleum
compounds into simpler molecules that can be
easily degraded.

12. With reference to CRISPR-Cas-9, consider the
following statements-

1. Through this technique, RNA editing can
be done at a particular position.

2. CRISPR technique is an important tool for
genome editing.

3. It can be used for prevention and treatment
of genetic disorders, spread of diseases
and crop improvement.

Select the correct statements from the above
and give the appropriate answer

[a] 1 and 2 only [b] 2 and 3 only

[c] 1 and 3 only [d] All of the above

Sol. [B]

Through this technique, DNA editing can be
done at a particular position.

13. Consider the following Medical Conditions-

1. Alzheimer's

2. Parkinson's

3. Sickle cell anemia

Which of the above diseases can be treated
with gene therapy?

[a] 1 only [b] 2 only

[c] 3 only [d] All of the above

Sol. [D]

Gene therapy is currently being used mainly on
plants - (plant cells), this technique is being used
in humans for the treatment of Alzheimer's,
Parkinson's and Sickle cell anemia etc.

14. With reference to Gestational Surrogacy,
consider the following statements-
1. In this, the egg and sperm of both the

parents are fertilized by IVF technique, the
prepared embryo is implanted in the uterus
of the surrogate mother.

2. The genetic influence in the child born out
of this process comes from the surrogate
mother.
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[a] 1 [b] 2

[c] 1 2 [d]

Sol. [B]

IVF 

15.

1.

2.

[a] 1 [b] 2

[c] 1 2 [d]

Sol. [C]

16. - 3 

1.

2. 24 

3. LVM-3 M4 

[a] 1 3

[b] 2 3

[c] 1 2

[d]

Sol. [A]

- 3 23 

Mark the incorrect statement/s from the
above-

[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] None of these

Sol. [B]

In Gestational Surrogacy, an embryo prepared
by fertilization using egg and sperm from both
parents is implanted in the uterus of the
surrogate mother
A child born out of this type of surrogacy
inherits the genetics from its biological parents.

15. With reference to Bioethanol, consider the
following statements-

1. It is produced by the fermentation process
of organic matter.

2. Maize, barley, wheat can be used for its
production.

Mark the correct statements from the above-

[a] 1 only [b] 2 only

[c] Both 1 and 2 [d] None of these

Sol. [C]

Bio ethanol is a basic biofuel produced by
fermentation of organic matter. Maize, barley,
wheat can be used for the production of bio-
ethanol.

16. Consider the following statements about
Chandrayaan-3:

1. It has landed on the south pole of the
Moon.

2. It made a successful landing on the surface
of the Moon on 24 August.

3. It was launched from LVM-3 M4.

Choose the correct statements from above-

[a] 1 and 3

[b] 2 and 3

[c] 1 and 2
[d] All of the above

Sol. [A]
Chandrayaan-3 made a successful landing on
the lunar surface on 23 August.
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17. - 2018 

1.

2. GDP 8% 

3. ICT 3 

[a] 1 2 [b] 2 3

[c] 1 3 [d]

Sol. [A]

- 2018 ICT
50 

18. 5G 

[a] [b]

[c] [d]

Sol. [B]

19. (Bharat Net) (FLAG)

[a] PAN [b] LAN

[c] MAN [d] WAN

Sol. [D]

20.

1.

2.

3.

[a] 1 [b] 2

[c] 3 [d]

Sol. [B]

21.

[a] 1994

17. With reference to the provisions of National
Digital Communication Policy - 2018,
consider the following statements-
1. Estabilishment of National Fiber

Authority.
2. To increase the contribution of digital

communication in GDP to 8%.
3. To include India in the top 3 countries in

the ICT Development Index.
Choose the correct statements from the above:
[a] 1 and 2 only [b] 2 and 3 only
[c] 1 and 3 only [d] All of the above

Sol. [A]
Under the National Digital Communications
Policy - 2018, the target is to include India in the
top 50 countries in the ICT Development Index.

18. Which company was the first to launch 5G
service in India?

[a] Jio [b] Airtel

[c] Vodafone [d] BSNL
Sol. [B]
19. BharatNet , FLAG are examples of which type

of network?

[a] PAN [b] LAN

[c] MAN [d] WAN

Sol. [D]

20. With reference to satellite communication,
consider the following statements-

1. It receives satellite waves through up-link.

2. Ultravoilet frequency is used in
communication waves.

3. Uplink and Downlink frequencies are kept
separate.

Choose the incorrect statements from the
above:

[a] 1 only [b] 2 only

[c] 3 only [d] All of the above

Sol. [B]

Microwave frequency is used in
communication waves.

21. Digital sovereignty is an element of which
telecom policy?
[a] National Telecom Policy, 1994
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[b] 1999

[c] 2012

[d] 2018

Sol. [D]

2018 
22.

1. 2022 

2. 2030 

3.

[a] 1 2 [b] 2 3

[c] 1 3 [d]

Sol. [B]

2022 

23.

[a] 2020 [b] 2021

[c] 2022 [d] 2023

Sol. [D]

24. (CERT-in)

1.

2.

3.

[a] 1 [b] 2

[c] 3 [d]

Sol. [B]

2008 

[b] National Telecom Policy, 1999
[c] National Telecom Policy, 2012
[d] National Digital Communications Policy,

2018
Sol. [D]

The principle of digital sovereignty is related to
the National Digital Communications Policy 2018.

22. Which statement is correct in the context of
National Geospatial Policy?

1. It was prepared by the Ministry of Earth
Science in 2022.

2. It aims to establish high accuracy digital
elevation models and high resolution
topographic survey and mapping by 2030.

3. Geospatial Data Promotion and
Development Committee is its apex body.

Select the correct statements from above-

[a] 1 and 2 [b] 2 and 3
[c] 1 and 3 [d] All of the above

Sol. [B]

The National Geospatial Policy 2022 was
prepared by the Ministry of Science and
Technology.

23. When did the Digital Personal Data

Protection Act come into force?

[a] 2020 [b] 2021

[c] 2022 [d] 2023

Sol. [D]
24. With reference to CERT-in, consider the

following statements-

1. It stands for Indian Computer Emergency
Response Team.

2. Its headquarter is in Mumbai.
3. It acts as a nodal agency in computer

security related incidents.
Select the incorrect statement from the above:
[a] 1 only [b] 2 only
[c] 3 only [d] All of the above

Sol. [B]
The headquarter of CERT-In is located in New
Delhi. It has established under Information
Technology Act, 2008.
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25. D1 

[a]
[b]
[c]
[d]

Sol. [A]

D1, 
 

5G 

26

1

2

[a] 2 [b] 1

[c] 1 2 [d] 1 2

Sol. [D]

•

•

•

•

•

•

27

1

2

25. Which of the following is Yotta D1?
[a] It is the largest data hyper scale center in

the country.
[b] This is a model of a metro train.
[c] The biggest mobile tower in the country.
[d] The prototype of the fighter aircraft.

Sol. [A]
Yotta D1 is the country's largest Data Centre
built in Noida, Uttar Pradesh. It provides
internet peering exchange and direct fiber
connectivity to global cloud operators. This will
be the first pillar of North India's 5G revolution.

26. Consider the following statements related to
levels of Biodiversity.
1. Species biodiversity concerns with the

variation in genes within a particular
species.

2. Genetic diversity refers to the variety of
living organisms  on earth.

Which of the statements given above is/are
correct?
[a] Only 2 [b] Only 1

[c] Both 1 and 2 [d] Neither 1 nor 2
Sol. [D]

Levels of Biodiversity -

• Genetic biodiversity concerns with the
variation in genes within a particular species.

• Species biodiversity refers to the diversity
of living organisms  on earth.

• Ecological Biodiversity refers to the
different types of habitats. i.e. -
Comparision between ecosystem.

• There are several kinds of habitats around
the world.

• Corals, grassland, wetlands, desert, mangrove
and tropical rain forests are example of
ecosystems.

• Diversity found in various varieties of wheat
and rice are examples of Genetic Biodiversity.

27. Consider the following statements -
1. Biodiversity is normally greater in the

lower latitudes as compared to the higher
latitudes.

2. Along the mountain gradients, biodiversity
is normally lower in the lower altitudes as
compared to the higher altitudes.
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[a] 2 [b] 1 2

[c] 1 [d] 1 2

Sol. [A]

1

2

28

[a]

[b]

[c]

[d]

Sol. [C]

29 UN-REDD

1

2

3

[a] 1 2 [b] 2 3

[c] 3 [d] 1 2 3

Sol. [D]

30.

A. 1.

B. 2.

C. 3.

D. 4.
A B C D A B C D

[a] 2 3 4 1 [b] 1 2 3 4

[c] 2 4 3 1 [d] 3 1 2 4

Sol. [A]

31. Project Tiger  1973 

Which of the statements given above is/are
incorrect?
[a] Only 2 [b] Both 1 and 2
[c] Only 1 [d] Neither 1 nor 2

Sol. [A]
1. Biodiversity is normally greater in the

lower latitudes as compared to the higher
latitudes.

2. Along the mountain gradients, biodiversity
is normally lower in the Higher altitudes
as compared to the lower altitudes.

28. Which one of the following option is the best
description of the term "Ecosystem"?
[a] A Community of organisms interacting with

one another.

[b] That part of the earth which is inhabited by
living organisms.

[c] A community of organisms living together in
an environment.

[d] The flora and fauna of a geographical area.

Sol. [C]

29. Proper design and effective implementation
of UN-REDD + Programme can significantly
contribute to which of the following-

1. Protection of biodiversity

2. Resilience of forest ecosystem

3. Poverty reduction

Select the correct answer using the code given below.

[a] 1 and 2 only [b] 2 and 3 only

[c] 3 only [d] 1, 2 and 3 only

Sol. [D]

30. Match the following-

National park State

A. Keibul Lamjao 1. Karnataka

B. Simlipal 2. Manipur

C. Salim Ali 3. Orissa

D. Nagarhole 4. Jammu and Kashmir
A B C D A B C D

[a] 2 3 4 1 [b] 1 2 3 4

[c] 2 4 3 1 [d] 3 1 2 4

Sol. [A]

31. Choose the correct statement related to Project

Tiger -1973 in India -
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1. Jim Corbett National Park is the largest
Tiger reserve of India on the basis of area.

2. The Bor Wildlife Sanctuary in Maharashtra
is the smallest tiger reserve on the basis of
area in India.

[a] 1 only  [b] 2 only

[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]

• Jim Corbett National Park was declared as
India's first reserve Tiger.

• Nagarjuna Sagar Srisailam is India's largest
tiger reserve based on area.

32. Select the correct statement regarding

National Air Quality Index-

1. In it the air quality is measured on the basis
of only four pollutants PM2.5, PM10, CO and
SO2.

2. There are 8 categories under this index.

[a] 1 only [b] 2 only

[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]

Air quality is measured on the basis of the
presence of 8 major pollutants.

1. PM2.5 2. PM10

3. CO 4. SO2

5. No2 6. NH3

7. O3 8. Pb

There are 6 categories under this index-

1. Good 2. Satisfactory

3. Moderately polluted 4. Poor

5. Very poor 6. Severe

33. Consider the following statements-

1. The official name of the Stockhalm Conference
was the United Nations Conference on
Human Environment (UNCHE).

2. UNEP was established as a result of this
conference.

3. The headquarter of UNEP is located in Geneva.
Select the correct statement-

[a] 1 and 2 only [b] 1 and 3 only
[c] 2 and 3 only [d] All of the above

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1, 2

Sol. [B]

•

•

32.

1.
 PM2.5, PM10, CO SO2 

2. 8 

[a] 1 [b] 2

[c] 1 2 [d] 1, 2

Sol. [D]

8 

1. PM2.5 2. PM10

3. Co 4. SO2

5. No2 6. NH3

7. O3 8. Pb

6 

1. 2. 

3. 4. 

5. 6. 

33.

1.

(UNCHE)

2. UNEP 

3. UNEP 

[a] 1 2 [b] 1 3

[c] 2 3 [d]
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Sol. [A]

The headquarter of UNEPC is located in
"Nairobi" Kenya.

34. Consider the following statements related to

Acid Rain-

1. The pH of acid rain is greater than 7.8.

2. The ratio of H2SO4 acid and HNO3 acid in
acid rain is 7:3.

3. Sulphate, Nitrate, Ammonium and
Hydrogen ions are also included in acid rain.

Select the incorrect statement-

[a] 2 only [b] 2 and 3 only

[c] 1 only [d] 3 only

Sol. [C]

The pH of acid rain is less than 5.6.

35. Match the conferences related to ozone layer

with the year they were organized-

Convention Year

A. Vienna Convention 1. 1992

B. Kigali Agreement 2. 1985

C. Copenhagen Amendment 3. 1987

D. Montreal Protocol 4. 2016
A B C D A B C D

[a] 2 4 1 3 [b] 1 2 3 4

[c] 2 1 4 3 [d] 2 3 4 1

Sol. [A]
36. 10% of energy flows from one trophic level

to another in an ecosystem. Who gave this
rule?
[a] Ernest Haeckel [b] Lindemann
[c] A G Tansley [d] Charles Alton

Sol. [B]
Lindemann gave the 10% law of energy flow
in 1942.
The rest of the energy goes through metabolic
processes and in the form of heat.

37. Examples of 'Ecotone' from the following are-

1. Wetlands 2. Deserts
3. Estuary 4. Mangrove
[a] 1 and 4 only [b] 1, 3 and 4 only
[c] 1 and 2 only [d] 2 only

Sol. [B]

Sol. [A]

UNEP 

34.

1. PH 7.8 

2. H2SO4 HNO3 
7:3 

3.

[a] 2 [b] 2 3

[c] 1 [d] 3

Sol. [C]

pH 5.6 

35.

A. 1. 1992

B. 2. 1985

C. 3. 1987

D. 4. 2016
A B C D A B C D

[a] 2 4 1 3 [b] 1 2 3 4

[c] 2 1 4 3 [d] 2 3 4 1

Sol. [A]

36.
10% 

[a] [b]
[c] [d]

Sol. [B]

10% 1942 

37.

1. 2.

3. 4.

[a] 1 4 [b] 1, 3 4

[c] 1 2 [d] 2

Sol. [B]
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38.

[a]

[b]

[c]

[d]

Sol. [B]

39. RajSWAN 

[a]

[b]

[c]

[d]

Sol. [C]

40.

[a] [b]

[c] [d]

Sol. [C]

41. STRIDE 

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1, 2

Sol. [D]

42
1

2 SRSAC

Ecotone is the transition zone between any
two ecological regions where some special
species are found along with the species
diversity of both ecological regions. Examples
are wetlands, estuaries, mangroves etc.

38. Mismatched pair is-

[a] Jeera Mandi - Jodhpur

[b] Pearl Millet Research Center - Jaisalmer

[c] Tomato Mandi - Jaipur

[d] Groundnut Mandi - Bikaner

Sol. [B]

Bajara/Pearl Millet Research Center - Barmer

39. What is RajSWAN?

[a] New species of Kurjan bird.
[b] New specie of crane coming to Rajasthan

from Ukraine.
[c] A program of the government to provide high

bandwidth internet in government buildings.
[d] A new video surveillance system of the

government
Sol. [C]
40. The platform of Rajasthan which provides the

facility of digital content storage of the
citizen?
[a] e-SANCHAR [b] RajNET
[c] Raj e-Vault [d] Raj e-Sign

Sol. [C]
41. Consider the following statements regarding

STRIDE scheme and select the correct
statement-
1. This scheme is being implemented by the

Ministry of Culture.
2. This scheme is related to the field of

scientific journalism.
[a] 1 only  [b] 2 only
[c] Both 1 and 2  [d] Neither 1 nor 2

Sol. [D]
This scheme is being implemented by the
Department of Science and Technology in Rajasthan.

42. Consider the following statements -
1. State Remote Sensing Application Centre

(SRSAC) is working, under dept of Science
& Technology of Rajasthan.

2. SRSAC is located in Jodhpur.
Which of the following statements given
above is/are correct?
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[a] 2 [b] 1
[c] 1 2 [d] 1 2

Sol. [C]

43.

A.    1.

B. 2.

C. 3. /

D. 4.

A B C D A B C D
[a] 1 2 3 4 [b] 4 2 3 1

[c] 3 2 1 4 [d] 4 3 1 2
Sol. [B]





 /


44.
1.

2. /

3. (Bio-NEMS)

[a] 1 2 [b] 2 3

[c] 1 3 [d]
Sol. [D]



 /
 

[a] Only 2 [b] Only 1
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [C]

43. Match

Nano products Applications
A. Nano Porous 1. For the extraction

Zeolite of pollutants
from the soil.

B. Nano capsule 2. Smart insecticide
that kills only de
sired insects

C. Nano Sensor 3. Indicators of Soil
Pollution Degra
dation

D. Nano magnets 4. To increase the
water holding ca
pacity of the soil

A B C D A B C D
[a] 1 2 3 4 [b] 4 2 3 1

[c] 3 2 1 4 [d] 4 3 1 2
Sol. [B]

 Nano Porous Zeolite - Used to increase the
water holding capacity of soil and absorb
soil pollutants.

 Nano Capsule - Smart insecticide that will
kill pests at the desired location.

 Nano Sensor - Indicator of Soil Pollution
Degradation

 Nano Magnet - for the extraction of
pollutants from the soil

44. Consider the following statements -
1. Nano-based surgery can be performed at

the cellular level.
2. Smart drugs only target the affected germ

cells.

3. Bio-NEMS are special types of nano robots.
Which of the above statement is correct:
[a] 1 and 2 only [b] 2 and 3 only
[c] 1 and 3 only [d] All of the above

Sol. [D]
 Nano-based surgery can be performed at

the cellular level.
 Smart drug – will affect only the affected

cells. Side effects of drugs will be minimal.
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45.

[a] [b]

[c] [d]

Sol. [C]





46.

[a]

[b]

[c]

[d]

Sol. [D]

47.

[a] HDL [b] LDL
[c] A & C [d]

Sol. [B]

45. Identify the nano product developed by
Institute of Nano Science and Technology
which will be used to help in clotting in case
of hemophilia disease or brain haemorrhage.

[a] Quantum dots [b] Hemo Dots

[c] Hemostats [d] Nanostats

Sol. [C]

 Quantum Dots - If the size of the particles
of semiconductors is reduced to very
small, then special optical and electronic
properties are produced in it.

 Hemostats - In case of hemophilia disease
or brain haemorrhage, such nanoparticles
will be inserted in the person which will help
in blood clotting (developed by the Institute
of Nanotechnology and Technology).

46. Which of the following statements is

incorrect with respect to carbon nanotube?

[a] Carbon nano tubes are used to filter polluting
micro particles from vehicle exhaust.

[b] Carbon nano tubes are used in water
purification.

[c] Carbon nano tubes are used in the
manufacturing of strong tennis rackets.

[d] Carbon nano tubes are made from
fullerenes.

Sol. [D]
Carbon Nano Tube: It is a structure made
from a single layer of graphene, a crystalline
allotrope of carbon. Whose diameter is of nano
meter scale.
It is used to filter the polluting micro particles
coming out of the vehicles.
It can also purify water.
Carbon nano tubes are used in the
manufacturing of strong tennis rackets.

47. If we take trans-Fat in Diet, then which level
will increase?
[a] HDL [b] LDL
[c] A & C [d] Glucose

Sol. [B]
When vegitable oil is heated for multiple times
then saturating character will increased due
to which proportion of high level of LDL &
low level of HDL and get converted into Trans
fatty acid or trans fat.
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48. Fruit Sugar 

[a] [b]

[c] [d]

Sol. [A]

49.
[a] [b]
[c] [d]

Sol. [C]
50.

[a] [b] -C
[c] [d] HDL

Sol. [A]

51.
[a] 100 mg/dL  
[b] 200 mg/dL  
[c] 60 mg/dL  
[d] 40 mg/dL  

Sol. [B]
52.

[a]
[b]
[c]
[d]

Sol. [A]

•

•

• 2
1 3

• 1
2

3 3

48. Fruit Sugar is-

[a] Fructos [b] Glucose
[c] Sucrose [d] Maltose

Sol. [A]
Fruit sugar i.e. fructose sugar dosn't have
property of Hydrolysis. These are also called
Monosaccharide.

49. Which test is done for Carbohydrates-

[a] Iodine Test [b] Widal Test
[c] Benedict's Test [d] ELISA Test

Sol. [C]

50. Which is present in Probiotics-
[a] Micro Organism [b] Vitamin-C
[c] Glucose [d] HDL

Sol. [A]
Probiotics are food material which consists of
live microorganism and are compulsory to
taken in food to keep our body healthy.

51. Blood cholestrol level should be-

[a] Below 100 mg/dL
[b] Below 200 mg/dL
[c] Below 60 mg/dL
[d] Below 40 mg/dL

Sol. [B]

52. Which Vaccine is given in Polio-

[a] Bivalent Vaccine
[b] Trivalent Vaccine
[c] Pentavalent Vaccine
[d] Monovolent Vaccine

Sol. [A]

• Polio vaccine is given to protect against po-
lio virus.

• There are three types of polio virus. That
is why earlier trivalent vaccine was given
to protect against these three polio viruses.

• But now polio virus 2 has been eradicated
from the whole world, so now bivalent
vaccine is given to protect against polio
virus 1 and 3.

• If it was polio virus 1, monovalent vaccine
would have been given, for polio virus 2
bivalent vaccine would have been given
and for polio virus 3 trivalent vaccine
would have been given.



Page 18

53.

[a] [b]

[c] E [d]

Sol. [D]

•

•

•

•

1. 2.

3. A 4. E

5. 6.

54.

[a] [b]

[c] -B [d]

Sol. [D]

B
HIV

5

55.

[a] < < 
[b] < < 
[c] < < 
[d] < < 

Sol. [A]

56.

[a]

[b]

[c]

[d]

Sol. [A]

57.

[a] [b]

[c] [d]

Sol. [D]

53. Which disease is not caused by Contaminated water.

[a] Typhoid [b] Cholera
[c] Hepatitis-E [d] Maleria

Sol. [D]
• Malaria disease is not caused by

Contaminated  water.
• Malaria is caused by the bite of female

Anopheles mosquito.
• Female Anopheles mosquito will also get

malaria by bite of the same mosquito in
which plasmodium is present.

• So it is a masquito-borne disease.
Following are the disease caused by
Contaminated water-
1. Typhoid 2. Cholera
3. Hepatitis-A 4. Hepatitis-E
5. Polio 6. Dysentery

54. Pentavalent Vaccine, don't prevent which disease-

[a] Diptheria [b] Pertussis
[c] Hepatitis-B [d] Rota-Virus

Sol. [D]
Penta valent vaccine does not protect against
Rota -virus.
Pentavalent vaccine protects the child against
5 life-threatening disease- Diphtheria, pertusis,
tetanus, hepatitis B and HIV.
Rota virus is one of the 5 new diseases added
to the "Indra Dhanush Scheme".

55. Give the correct order of gaining energy-

[a] Carbohydrate < Protein < lipid
[b] Lipid < Protein < Carbohydrate
[c] Protein < Lipid < Carbohydrate
[d] Carbohydrate < Lipid < Protein

Sol. [A]

56. Corbohydrate is-

[a] Polyhydroxy Aldehydrate and Ketone
[b] Polyhydroxy Alcohol
[c] Polyhydroxy Glycerol
[d] Polyhydroxy Acid

Sol. [A]
A carbohydrate molecules contains several
hydroxyl groups either in form of aldehyde
or ketone group.

57. Which is not Bio-Fuel-

[a] Carbohydrate [b] Protein
[c] Lipid [d] Vitamin

Sol. [D]
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58.

1. O+ 

2. AB+ 

[a] 1 [b] 2

[c] 1 2 [d]
Sol. [B]

AB+ 

AB– 

O– 

O+ 

59.

[a] [b]

[c] [d]

Sol. [A]

60.

1. 44 + X0

2. 13

3. 44 + XXY

4. 18

[a] 1 [b] 1 2

[c] 1, 2 3 [d] 1, 2, 3, 4

Sol. [D]

1. 44 + XXY

47 23 Trisomy 

Vitamin doesn't produce energy so they ain't
Biofuels.

58. Which among the following statement is/are
correct-
1. O+ is universal Donor Blood group
2. AB+ is universal Acceptor Blood group
[a] 1 only [b] 2 only
[c] 1 and 2 [d] None of these

Sol. [B]
 Antibodies are absent in the AB+ Blood group.
It can be accepted from all types of blood
groups. That's why it is an universal acceptor
Blood group.
But a person with AB– can take blood only
from people with negative blood group. So it
is not an universal acceptor blood group.
Antigen is absent in O– blood group, so it is
possible to donate blood to all types of blood
group, there fore it is called universal donor
blood group.
While a person with O+ Blood group can
donate blood only to a person with positive
blood group, so it is not a universal donor
Blood Group.

59. Which disease is caused by Bacteria-

[a] Tetanus [b] Japanese Encepholites
[c] Pyria [d] Measles

Sol. [A]
Bacteria's disease - Plague, Gonnerrhea,
Diptheria, Tetanus.

60. Choose the incorrect statement-

1. Klinefelter syndrome - 44 + X0
2. Down Syndrome- Trisomy of 13 th

Chromosome
3. Turner syndrome - 44 + XXY
4. Patau syndrome - Trisomy of 18 th

Chromosome
[a] 1 [b] 1 and 2
[c] 1, 2 and 3 [c] 1, 2, 3, 4

Sol. [D]

1. Klinefelter syndrome: - 44 + XXY

This happens only in males. In this the number
of chromosomes increases to 47.

23th chromosome has Trisomy.

Symptoms - Development of breast in men like
women.
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2. 21 Trisomy. 

47 

35

3. 44 + XO

23
Monosomy 

45 

1. 

2. 

4. 13
47

61.

[a] [b]
[c] [d]

Sol. [D]

62.

[a] - B1

[b] - B12

[c] - C

[d] - D

Sol. [B]

 B12 

63.

[a] A [b]  B

[c] K [d] E

Sol. [D]

64. 2027 

[a] [b] 

[c] [d] 

Sol. [A]

2. Down syndrome: - Trisomy of 21st

chromosome. This happens in both men and
women. In this the number of chromosomes
increases to 47.

Other Names:- Mangolism

When 35 year old woman gives birth to a
child, this disease is seen in her children.

Symptoms: - short height, flat nose, eyes small,
forehead large, short neck.

3. Turner syndrome:- 44 + XO

It occurs only in female. It the number of
chromosomes to 45 only.

Symptoms:- 1. Absent menstrual cycle

             2. Underdevelopment of breast

4. Patau syndrome: - Trisomy of 13 th

chromosome It happens in both. Number of
chromosomes in it – 47

61. Which disease is not caused by protozoa-

[a] Malaria [b] Pyria
[c] Sleeping sickness [d] Measles

Sol. [D]
Protozoa- Malaria, Leukeriya, kala azar,
Pechis, sleeping sickness, pyria.
Measles is caused by virus.

62. Which statement is wrong-

Vitamin Chemical name

[a] Vitamin - B1 Thiamine

[b] Vitamin - B12 Niacine

[c] Vitamin - C Ascorbic Acid

[d] Vitamin - D Calciferol

Sol. [B]

Vitamin  B12 - Cynolobalamine

63. Vitamin helpful in reproduction is-

[a] Vitamins A [b] Vitamin B
[c] Vitamin K [d] Vitamin E

Sol. [D]

64. Recently which disease has been targeted to
be eradicated by 2027-

[a] Filaria [b] Dengue disease
[c] Japanese encephalitis [d] Yellow fever

Sol. [A]
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65.

[a] [b]

[c] [d]

Sol. [D]

A

66.

[a] 1.5 mg/L 

[b] 1 mg/L 

[c] 0.5 mg/L 
[d] 0.8 mg/L 

Sol. [A]

67.

[a] + + +

[b]

[c] + +

[d] + +

Sol. [C]

•

(+)

•

1/2 – 72 
Anti-D 

68. Rh 

[a] Rh 

[b] Rh 1900 

[c] Rh WBC 

[d] Rh 

Sol. [D]

• RBC 

•

65. Which of the following is not a
communicable disease?

[a] Typhoid [b] Malaria
[c] Polio [d] Night Blindness

Sol. [D]
Night blindness is not infectious disease be-
cause it don't spread through pathogens it
cause due to Vitamin A deficiency.

66. For fluorosis, the level of fluoride in water
should be-

[a] More than 1.5 mg/L
[b] More than 1 mg/L
[c] More than 0.5 mg/L
[d] More than 0.8 mg/L

Sol. [A]

67. Erythroblastosis fetalis is?

Father        Mother                Baby

[a] + + +

[b]

[c] + +

[d] + +

Sol. [C]

Erythroblastasis fetalis :-
• A man with positive character when mar-

ried to a women with negative character.
their first child is normal (+)

• Bit after the first child all the other chil-
dren die. This condition is called
erythroblastasis fetails.

Treatment :- During the first delivery the
mother is given an injection of Anti-D within
1/2-72 hours of delivery.

68. Which of the following is correct regarding
the Rh factors?

[a] Rh factor is present in all human beings.
[b] Rh factor was discovered in 1900.
[c] Rh factor present on the WBC.
[d] Rh factor is made up by protein.

Sol. [D]

• It is a structure of small protein present
on RBC.

• It is present in all monkeys.
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• 1940 

•

69. 'O' 

1.

2.

3. O+, 

[a] 1 2 [b] 2 3

[c] 2 [d] 3
Sol. [C]

• O 

•

•

70. I II 

A. 1.

B. 2.

C. 3.

D. 4.
A B C D A B C D

[a] 1 2 3 4 [b] 2 3 4 1
[c] 3 4 1 2 [d] 4 3 2 1

Sol. [D]

71. MMR 

[a]

[b]

[c]

[d]

Sol. [B]

72. AIDS CONFIRMATION 

[a] [b]

[c] [d]

Sol. [B]

(Ab)

73.

[a] [b]

[c] [d]

• It was discoverd by weiner  and
landsteiner in 1940 in a monkey named
Rhesus.

• It is not present in all humans.
69. The correct statement regarding blood group 'O' is-

1. It is universal acceptor blood group.
2. Antigen is absent in it.
3. O+ Blood group can donate blood to all.
[a] 1 and 2 [b] 2 and 3
[c] only 2 [d] only 3

Sol. [C]
• Antigens are absent in blood group 'O'
• It can donate blood to all as antigens are

absent.
• It is universal donor blood group.

70. Match List-I and List-II-

A. Malaria 1. Fungus

B. Hepatitis 2. Bacteria

C. Tuberculosis 3. Virus

D. Ringworm 4. Protozoa
A B C D A B C D

[a] 1 2 3 4 [b] 2 3 4 1

[c] 3 4 1 2 [d] 4 3 2 1

Sol. [D]

71. MMR vaccine is for?

[a] Measles, Malaria, Rabies

[b] Measles, Mumps, Rubella

[c] Measles, Mumps, Rotavirus

[d] Mumps, Meningitis, Rota virus

Sol. [B]

72. Which test is done for AIDS ?

[a] ELISA test [b] Western blot

[c] Widal test [d] All

Sol. [B]

ELISA - Detect Antibody (Ab) in blood

Widal  - Typhoid

73. In Malaria Plasmodium enter in the body in

which form?

[a] Merozoite [b] Oocyte

[c] Sporozoite [d] Ookinete
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Sol. [C]

74. Black Lung 

[a] [b]

[c] [d]

Sol. [A]

75.

[a] [b]

[c] [d]

Sol. [B]

76. DOTS 

[a] [b]

[c] [d]

Sol. [B]

77. RBC 

[a] [b]

[c] [d]

Sol. [D]

78.

[a] [b]

[c] [d]

Sol. [C]

79.

[a] a b 

[b] A B 

[c] A b 

[d] B a 

Sol. [B]

AB+ 

80.

(A) :

(R) :

[a] A R 

Sol. [C]

74. Black Lung disease occurs?

[a] Antheracosis [b] Siderosis

[c] Asbestosis [d] Byssinosis

Sol. [A]

75. Which lens is used in myopia?

[a] Convex [b] Concave

[c] Cylindrical [d] Bifocal

Sol. [B]

76. DOTS technique is applied on?

[a] Leprosy [b] Tuberculosis

[c] Hepatitis [d] Typhoid

Sol. [B]

77. RBC is formed in?

[a] Bone Marrow [b] Liver

[c] Spleen [d] All

Sol. [D]

78. In which form the glucose is storaged?

[a] Lipid [b] Protein

[c] Glycogen [d] Minerals

Sol. [C]

79. Which antigens and antibodies are present in

the universal receptor blood group respectively?

[a] None of the antigens and a and b antibodies
[b] A and B antigens and none of the antibodies
[c] A antigen and b antibody
[d] B antibody and a antibody

Sol. [B]

AB+ blood group is called universal receptor blood
group. Because no antibodies are found in it.

80. Read the following statements and choose
the correct option-

Assertion (A) : A gas can be easily compressed
on application of pressure.

Reason (R) : When we apply pressure on a gas,
the intermolecular space between gaseous
particles decreases and it gets compressed easily.

[a] A is incorrect, but R is correct.
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[b] A R R, A 

[c] A R R, A 

[d] A R 

Sol. [B]

81.
[a]
[b]
[c]
[d]

Sol. [B]

82.

1.
2.

3.

4.

[a] 1 3 [b] 2 3

[c] 1, 2 4 [d] 1, 2, 3 4
Sol. [D]

83.

[a] [b]
[c] [d]

Sol. [A]

[b] Both A and R are correct and R is the
correct explanation of A.

[c] Both A and R are correct, but R is not the
correct explanation of A.

[d] A is correct but R is incorrect.

Sol. [B]
81. On reducing the atmospheric pressure on a

liquid-
[a] The boiling point of the liquid increases.
[b] The boiling point of the liquid decreases.
[c] Has no effect on the boiling point of the liquid.
[d] The time required for its boiling increases.

Sol. [B]
At high altitude the atmospheric pressure is
less than the normal, so the boiling point of
the liquid also decreases.

82. Consider the following statements-
Hard water is not appropriate-
1. To drink
2. To wash clothes with soap
3. For use in boilers
4. For crop irrigation
Which of these statements are correct?
[a] 1 and 3 [b] 2 and 3
[c] 1, 2 and 4 [d] 1, 2, 3 and 4

Sol. [D]

The presence of calcium and magnesium salts
and iron salts in the form of hydrogen car-
bonate, chloride and sulphate is found in hard
water. Hence it does not lather with soap.
Hard water is not suitable due to formation
of salt crust in boilers and salt crust on soil in
crop irrigation.

83. When exposed to moist air, a green coating

is formed on the surface of copper. This

happens due to the formation of which of

the following compounds?

[a] Copper Carbonate [b] Copper Oxide

[c] Copper Sulphate [d] Copper Nitrate

Sol. [A]
Copper reacts with moist air to form Copper
Carbonate which is deposited on copper sur-
face as a Green layer.
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84.

1.

2.

3.

[a] 1 2 [b] 1

[c] 1 3 [d]

Sol. [A]

85.

A. 1.

B. 2.

C. 3.

D. 4.
A B C D A B C D

[a] 3 1 4 2 [b] 1 3 4 2

[c] 3 1 2 4 [d] 1 2 3 4

Sol. [A]

86.

1.

2.

3.

[a] 2 [b] 1 2

[c] 1 3 [d]

Sol. [C]

87.

1.

2.

3.

[a] 1 2 [b] 1

[c] 2 [d]

Sol. [D]

84. What are examples of 'Homogeneous Mixture'?

1. Salt and water solution

2. Alloy

3. Mixture of air and dust particles

[a] 1 and 2 only [b] 1 only

[c] 1 and 3 only [d] All of the above

Sol. [A]

85. Match the following-

A. Chlorine 1. Artificial rain
B. Silver Iodide 2. Photography

and dry ice
C. Magnesium 3. Water purification
D. Sodium 4. White light in

thiosulphate crackers
A B C D A B C D

[a] 3 1 4 2 [b] 1 3 4 2
[c] 3 1 2 4 [d] 1 2 3 4

Sol. [A]

86. Examples of fermentation include-

1. Conversion of milk into curd.

2. Brownish color of the cut apple after some time.

3. Preparation of wine from fruit juice.

[a] 2 only [b] 1 and 2 only

[c] 1 and 3 only [d] All of the above
Sol. [C]

In the process of fermentation, complex
organic compounds are broken down by yeast
and bacteria into simpler compounds.
The brown color of a cut apple after some time
is due to the oxidation of iron present in the
apple.

87. Consider the following points related to the

properties of chemical preservatives:

1. Be active in a small amount.

2. Be effective in the long run.

3. Don't reduce the quality of food.

The incorrect statement/s from the above is/are-

[a] 1 and 2 only [b] 1 only

[c] 2 only [d] None of these

Sol. [D]
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88.

1.

2.

3.

4.

[a] [b]

[c] [d]

Sol. [D]

89.

1.

2.

3.

[a] 1 [b] 2 3

[c] 1 3 [d]

Sol. [C]

90.

[a]

[b]

[c]

[d]

Sol. [B]

91.

[a]

[b]

[c]

[d]
Sol. [C]

Chemical preservatives prevent rancidity in
foods and curb the growth of microorganisms.

88. The number of matched pairs in the following is-

1. Acetic acid - Vinegar

2. Citric Acid - Orange

3. Lactic Acid - Curd

4. Ascorbic Acid - Amla/Gooseberry

[a] One pair [b] Two pairs

[c] Three pairs [d] Four pairs
Sol. [D]
89. In humans artificial respiration is used for-

1. Mixture of oxygen and helium gas.
2. Mixture of oxygen and hydrogen gas.
3. Liquid Oxygen
[a] 1 only [b] 2 and 3 only
[c] 1 and 3 only [d] All of the above

Sol. [C]
90. 'Milk of Magnesia' is used for-

[a] As a painkiller.
[b] As a laxative.
[c] As a food preservative.
[d] As an antibiotic.

Sol. [B]
91. When an object is thrown vertically upwards,

it reaches a maximum height when...............
[a] Its potential energy becomes zero

[b] Its momentum becomes maximum

[c] Its kinetic energy becomes zero

[d] Its gravitational force becomes maximum

Sol. [C]

According to the law of conservation of
energy, energy can neither be created nor
destroyed. Energy can be converted from one
form to another.

When an object is thrown vertically, the kinetic
energy of the object is continuously converted
into potential energy. At the point of maximum
height, that object will become stable, hence
the kinetic energy will be zero.
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92.

[a]

[b]

[c]

[d]

Sol. [A]

93.

[a]

[b]

[c]

[d] ( ) 

Sol. [B]

94.

[a]

[b]

[c]

[d]

Sol. [D]

92. Which of the following statement is incorrect?
[a] If the buoyant force is less than the weight

of the object, then the object floats.
[b] If the buoyant force is greater than the

weight of the object, then the object floats.
[c] If the buoyant force is equal to the weight

of the object, then the object floats inside
the liquid.

[d] If the buoyant force is less than the weight
of the object, then the object sinks.

Sol. [A]
If the value of buoyancy force is less then the
object will sink because buoyancy force is
mainly the responsible factor for any object to
float in the liquid.

93. Which of the following statement is not
correct about sound?

[a] Sound travels more slowly than the speed
of light.

[b] Sound waves are transverse waves.

[c] Sound waves are longitudinal waves.

[d] Sound travels faster in moist air than in
dry air.

Sol. [B]

Sound waves are mechanical waves of
longitudinal nature. The density of moist air
is high, so the sound is heard far and wide.

94. Light rays travel in a straight line, but
through an optical fiber they can pass through
a curved path. This is because

[a] Fiber has very fine pores

[b] Light rays are absorbed at the input end of
the fiber and are released at the output end.

[c] Light is scattered inside the fiber.

[d] As the ray passes through the fibre, successive
total internal reflections take place.

Sol. [D]

Light source works on the principle of total
internal reflection. When a ray of light passes
through a curved path in an optical fibre, it
passes even when it is bent due to the total
internal reflection.
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95. (CFL) (LED) 

1.

2.

3.

[a] 1 [b] 1 2 

[c] 1 3 [d] 1, 2 3
Sol. [C]

LED CFL 

96.

[a]

[b]

[c]

[d]
Sol. [D]

220 Volt AC 

5V, 10V, 25V, 35V 

97.

1. -239 
2.

3. -238 -235

[a] 1 [b] 1 2 
[c] 1, 2 3 [d] 3

Sol. [A]
- 239 

235 
- 238 

95. What is the difference between CFL and LED
lamps?

1. CFL uses mercury vapour and phosphorous
to produce light, while LED lamp uses
semiconductor materials.

2. Average life span of CFL is much higher
than LED lamp.

3. The energy efficiency of CFL is less as
compared to LED.

Which of the above statement(s) is/are correct?

[a] 1 only [b] Both 1 and 2

[c] Both 1 and 3 [d] 1, 2 and 3

Sol. [C]

The life span of LED lamps is longer than that
of CFL lamps.

96. Mobile charger is
[a] One inverter
[b] A U.P.S.
[c] A step up transformer
[d] An step down transformer

Sol. [D]
Usually 220 Volt AC electric current is supplied
in homes. The charging capacity of mobile
phones varies. Some mobiles come with 5V,
10V, 25V, 35V etc. voltage charging capability.
Therefore, the mobile charger provides output
according to the capacity of the mobile while
acting like a step-up transformer.

97. Consider the following statements-
1. Plutonium-239 can be made artificially.
2. Calcium is used in nuclear reactors to

absorb unwanted neutrons.
3. The availability of Uranium-238 in nature

is much more than that of Uranium-235.
Which of the following statement(s) is/are
correct?
[a] 1 only [b] Both 1 and 2
[c] 1, 2 and 3 [d] 3 only

Sol. [A]
Plutonium-239 can be made artificially in a
nuclear reactor.
Cadmium rods are used in nuclear reactors to
absorb unwanted neutrons and as control
rods. Uranium-235 is more available naturally
and by enriching it Uranium-238 is obtained.
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98. (Alternator) 

[a] (DC) 

[b] (AC) 

[c]

[d]
Sol. [B]

Alternator = Mechanical Energy AC

Generator = Mechanical Energy  AC/DC

99.

[a]

[b]

[c]

[d] a c 
Sol. [D]

2.38Km/s 
Root Mean Square 

100.

1.

2.

3.

[a] 1 2 [b] 2 3

[c] 2 [d]
Sol. [D]

101.

I : 

II :

[a] I
[b] II
[c]
[d]

Sol. [A]

98. Alternator is a machine, with function of-

[a] Converting mechanical energy into direct
current (DC) electrical energy.

[b] The conversion of mechanical energy into
alternating current (AC) electrical energy.

[c] Converting higher voltage into lower
voltage.

[d] Conversion of mechanical energy into light
energy.

Sol. [B]

Alternator = Mechanical Energy AC

Generator = Mechanical Energy  AC/DC
99. What is the reason that there is no atmosphere

on the moon?
[a] The escape velocity of the moon is less than

the rms velocity of the gas molecules.
[b] The escape velocity of the moon is greater

than the RMS velocity of the gas molecules.
[c] The gravitational force of the moon is

weak.
[d] Both a and c

Sol. [D]
The escape velocity of the moon is 2.38 m/s,
which is less than the minimum velocity of the
gases and the gravitational force of the moon
is also less, so the gases escape, hence the
atmosphere is absent.

100. Which of the following phenomena are
related to Capillary action?
1. Dissolving coffee powder in milk.
2. The nib of the fountain pen is cut from the middle.
3. After wetting the chowk a little, it gets

completely wet.
[a] 1 and 2 only [b] 2 and 3 only
[c] 2 only [d] All of the above

Sol. [D]
101. Statement: Government has made home loans

cheaper.
Assumption I: More people are likely to take
home loans.
Assumption II: Price of houses will come down.
[a] Only assumption I is implicit
[b] Only assumption II is implicit
[c] Both assumptions are implicit
[d] Neither assumption I nor II is implicit

Sol. [A]

The statement - "Government has made home
loans cheaper." means that now people can
easily get loans and can buy houses.
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102.

I

II

[a] I
[b] II
[c]
[d]

Sol. [D]

103.

I.

II.

[a] I 

[b] II 

[c] I  II 

[d] I II 
Sol. [A]

 I II 

Therefore, "More people are likely to take
home loans." - correct.
Making home loans cheaper doesn't affect
house prices in any way hence, it is incorrect.

102. Statement: Every IIT offers B-Tech and M-
Tech courses.

Assumption I: B-Tech and M-Tech courses are
offered only in IITs.

Assumption II: IITs are meant for B-Tech and
M-Tech courses only.

[a] Only Assumption I is strong

[b] Only Assumption II is strong

[c] Both Assumptions are strong

[d] Neither assumption I nor II is strong

Sol. [D]

The statement: Every IIT offers B-Tech and
M-Tech courses.

This doesn't mean that only IITs offer B-Tech
and M-Tech courses.

There are other colleges too that offer these 2
courses.

Hence, "B-Tech and M-Tech courses are
offered only in IITs." is incorrect

Btech and Mtech are 2 of the various courses
by IITs

They also offer other courses.

Hence, "IITs are meant for B-Tech and M-Tech
courses only." - also incorrect.

103.Statement
Should there be a restriction on the migration
of people from one state to another state in
India?
Arguments
I. No, any Indian citizen has a basic right to

stay at any place of his/her choice and
hence they cannot be stopped.

II. Yes, this is the way to effect an equitable
distribution of resources across the states
in India.

[a] If only argument I is strong.
[b] If only argument II is strong.
[c] If neither I nor II is strong.
[d] If both argument I and II are strong.

Sol. [A]
Clearly, argument I is strong, while argument
II is vague.



Page 31

104.

 (A) : 
(R): 

[a] A R
[b] A R R
[c] A R R
[d] A R

Sol. [D]
(A) :

(R) :

105.

:

1.

2.

3.

 :

1.

2.
3.

[a] 3
[b] 1 2
[c] 1
[d] 1 2

Sol. [A]

106.

104. Read the given statements (Assertion and
Reason) carefully and select appropriate
option with respect to them.
Assertion [A] : Greenland is entirely green.
Reason (R) : Polar regions have snowfall
round most the year.
[a]  Both A and R are incorrect
[b] Both A and R are correct but R is not the

correct explanation.
[c] Both A and R are correct and R is the

correct
[d] A is incorrect but R is correct

Sol. [D]
Assertion : (A) The statement that Greenland
is completely green is incorrect.
Reason (R) : This is correct as there is snow in
the polar regions for most part of the year.

105. Read the given statements and conclusions
carefully and decide which of the conclusions
logically follows(s) from the statements.

Statements :

1. Some of the dance forms taught in all the
dance classes of Delhi are Hip-Hop,
contemporary and Kathakali.

2. None of the dance classes of Delhi teach
Kuchipudi.

3. Some of the dance classes of Delhi teach
Salsa and Odissi.

Conclusions :

1. Salsa is taught in every dance class of Delhi.

2. Some of the dance classes of Delhi do not
teach Kathkali

3. There isn't single dance class in Delhi that
doesn't teach Hip-Hop.

[a] Only conclusions 3 follow
[b] Both conclusions 1 and 2 follow
[c] Only conclusion 2 follows
[d] Both conclusions 1 and 2 follow

Sol. [A]
There is not a single dance class in Delhi that
does not teach hip-hop. This is absolutely true
as it is written in the statement that all dance
classes in Delhi teach hip-hop.

106. Statement :  Money has become more important
than the game itself in the case of Indian cricket.

Courses of action:
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I.

II.

[a] I
[b] II 
[c] I II
[d] I II

Sol. [B]

II I

107. 

I.
II.
III.
IV.
[a] III 
[b]  II  IV 
[c]  I  III 

[d]  I, II  IV 
Sol. [A]

Blue
Black

Red

G
re
en Yellow

108. 

I.

II.

III.

IV.

I.     Govt. should put a cap on the earnings
from different sources of the Indian cricket
board.

II.   Govt should put a cap on the earnings from
different sources of Indian cricket players.

[a] If only I follows.

[b] If only II follows.

[c] If both I and II follow.

[d] If neither I nor II follows.

Sol. [B]

Money is causing a problem in the case of
players, not the board. The players
concentrate more on earning than on the
game. Hence II follows but I does not.

107. Statements:
Blue is Black and some Black is Red.
All Red is Green but not Yellow
Conclusion:
I. Some Blue is Green.
II. No Black is Yellow.
III. Some Black is not Yellow.
IV. No Black is Green.
[a] Only III follows
[b] Only II and IV follow
[c] Only I and III follow
[d] Only I, II and IV follow

Sol. [A]

Blue
Black

Red

G
re
en Yellow

Some blue is red and All red is green.
Therefore, some blue is green.

108. Statements:

All Peacocks are Lions.

Some Tigers are Peacocks.

Conclusion:

I. Some Lions are not Tigers.

II. All Tiger are Lions.

III. Some Tigers are Lions.

IV. All Peacocks are Tigers.
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[a]  III 

[b]   IV 

[c]  I 

[d]   II 

Sol. [A]

Peacocks

Lion

Tiger

109. 11 

47 

[a] 60 [b] 62
[c] 59 [d] 61

Sol. [D]

   = 11+47–1 = 57

=57+3+1 = 61

110.  A, B, C, D, E  F 

C, D  F, A  E  E,

F  D F 

[a] A [b] C
[c] D [d] E

Sol. [D]
D

E

F A

B

C

E, F 

111.
5 

[a]
1

12
[b]

1

18

[c]
1

6
[d]

1

9

Sol. [D]

n (S) = 6 × 6 = 36

5 (1,4) (4,1) (2,3) (3,2)

[a] Only conclusion III follows

[b] Only conclusion IV follows

[c] Only conclusion I follows

[d] Only conclusion II follows

Sol. [A]

Peacocks

Lio
n

Tiger

109. In an examination, Rahul got the 11th rank
and he was 47th from the bottom among
those who passed. 3 students could not
appear for the exam.1 student failed. What
is the total number of students?
[a] 60 [b] 62
[c] 59 [d] 61

Sol. [D]

Number of successful candidates= 11+47–1 = 57

Total number of students=57+3+1 = 61

110. Six friends A, B, C, D, E and F are sitting in a circle.

C is to the left of D. F is between A and E and
E is between F and D. Who is to the left of F?

[a] A [b] C
[c] D [d] E

Sol. [D]
D

E

F A

B

C

E is to the left of F.
111. Two dice are thrown simultaneously. So

what is the probability that the sum of the
digits on both the sides is 5?

[a]
1

12
[b]

1

18

[c]
1

6
[d]

1

9

Sol. [D]

Total result n (S) = 6 × 6 = 36
The sum of the digits can be 5- (1,4) (4,1) (2,3)

(3,2)
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n(E)=4, P(E) = 
( ) 4 1

( ) 36 9

n E

n S


 2

1

6

x 


2

5 1 4 1

6 36 9


  

112. 53 

[a]
1

15
[b]

1

52

[c]
2

7
[d]

1

7

Sol. [C]

1 = 52 + 2 

= 

= 7

= 2

= 
2

7

113. 4 3 5 

[a]
19

66
[b]

16

66

[c]
13

66
[d]

6

66

Sol. [A]

= 4 + 3 + 5 = 12

12 2 

12
2

12 11
( ) 66

2


  n S C

Then n(E)=4, P(E)= 
( ) 4 1

( ) 36 9

n E
or

n S


Another Method -

 Probability 2

1

6

x 


2

5 1 4 1

6 36 9


  

112. What is the possibility of having 53 Sundays
in a leap year at random.

[a]
1

15
[b]

1

52

[c]
2

7
[d]

1

7

Sol. [C]

1 leap year = 52 weeks + 2 days
Probability of remaining two days = (Sunday,
Monday), (Monday, Tuesday), (Tuesday,
Wednesday), (Wednesday, Thursday),
(Thursday, Friday), (Friday, Saturday),
(Saturday, Sunday), .
Total = 7
Result in favor = 2

Probability = 
2

7

113. A bag contains 4 black, 3 red and 5 green
balls. Any two balls are drawn at random
from the bag. What is the probability that
both the balls are of the same colour ?

[a]
19

66
[b]

16

66

[c]
13

66
[d]

6

66

Sol. [A]

Total balls in the bag = 4 + 3 + 5 = 12
Total number of ways to draw 2 balls out of
12 balls

12
2

12 11
( ) 66

2


  n S C
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12 

n(E) 4 3 5
2 2 2C C C  

4 3 3 2 5 4

2 2 2

  
  

= 6 + 3 + 10 = 19

( ) 19
( )

( ) 66

n E
P E

n S
 

114.

[a]
4

13
[b]

5

12

[c]
1

26
[d]

9

26

Sol. [A]

13 3 n(E)
= 13 + 3 =  16

( ) 16 4
( )

( ) 52 13

n E
P E

n S
  

115. 75% 80% 

[a] 35% [b] 60%

[c] 40% [d] 45%

Sol. [A]

75% = 25%

80% = 20%

= 75% ×
20% + 80% × 25%

= 
75 20 80 25

100 100 100 100
  

3 1 4 1 3 1 7

4 5 5 4 20 5 20
      

7
100 35%

20
 

Number of ways of drawing two identical
balls from 12 balls

n(E) 4 3 5
2 2 2C C C  

4 3 3 2 5 4

2 2 2

  
  

= 6 + 3 + 10 = 19
Then the probability of drawing both the balls
of the same color is -

( ) 19
( )

( ) 66

n E
P E

n S
 

114. If a card is drawn at random from a deck of
cards, what is the probability that it is a
diamond or an ace?

[a]
4

13
[b]

5

12

[c]
1

26
[d]

9

26

Sol. [A]

If there are 13 diamond and 3 other aces in a
deck of cards, then n(E) = 13 + 3 = 16

( ) 16 4
( )

( ) 52 13

n E
P E

n S
  

115. If Sita speaks 75% truth while Geeta speaks
80% truth then what is the probability that
both will be having contradiction.
[a] 35% [b] 60%
[c] 40% [d] 45%

Sol. [A]

If Sita speaks 75% truth then lies = 25%
Geeta speaks 80% truth then lies = 20%
Thus, the probability that both are in
contradiction = 75% × 20% + 80% × 25%

= 
75 20 80 25

100 100 100 100
  

3 1 4 1 3 1 7

4 5 5 4 20 5 20
       or

 
7

100 35%
20

 
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116. 15 5 3 

[a]
24

91
[b]

45

91

[c]
67

91
[d]

82

91

Sol. [B]

= 10

= 5

5 10
1 2
15

3

5 10 9 3 2 45

2 15 14 13 91

C C

C

    
  

  

117.

2

5

1

5

[a]
2

25
[b]

12

25

[c]
13

25
[d]

3

5

Sol. [C]

 1 – (1–P1) (1 –P2)

 1 – 
2 1

1 1
5 5

     
  

 1 – 
3 4 12 13

1–
5 5 25 25
  

118.

[a]
1

26
[b]

3

26

[c]
4

13
[d]

3

13
Sol. [C]

116. There are 15 bulbs out of which 5 are
defective. Out of these 3 bulbs are selected
at random, what is the probability that only
one bulb is defective out of these?

[a]
24

91
[b]  

45

91

[c]
67

91
[d]

82

91

Sol. [B]

Functional bulbs = 10
Defective bulbs = 5
We have to choose only one defective bulb-

5 10
1 2
15

3

5 10 9 3 2 45

2 15 14 13 91

C C

C

    
  

  

117. The probability that a boy will pass an

examination is 
2

5
 and that a girl will pass is

1

5
. The probability of at least one of them

will pass-

[a]
2

25
[b]

12

25

[c]
13

25
[d]

3

5
Sol. [C]

 1 – (1–P1) (1 –P2)

 1 – 
2 1

1 1
5 5

     
  

 1 – 
3 4 12 13

1–
5 5 25 25
  

118. A card is drawn from a well shuffled deck of
cards. The probability that this card is a king
or a spade .

[a]
1

26
[b]

3

26

[c]
4

13
[d]

3

13
Sol. [C]
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4 13 

4 13 1 16 4
–

52 52 52 52 13
   

119. A 
2

5
B

3

4
 

[a]
3

20
[b]

6

20

[c]
9

20
[d]

Sol. [C]

P = 
– –

( ) ( )P AB P AB

2 3 3 1

5 4 5 4
   

6 3 9

20 20


 

120. A B 
A 

[a]
2

3
[b]

1

3

[c]
1
2

[d]
4
3

Sol. [A]

P (A) = P(H) + P (TH) + P (TTTTH) +.......

1 1 1 1 1 1 1 1
....

2 2 2 2 2 2 2 2
        

[ = 
1

a

r
]

The drawn card being a king or a spade is not
an independent event, because there are 4
kings and 13 spades but one card will be a
king of spade.

So the probability
4 13 1 16 4

–
52 52 52 52 13

   

119. In an examination, the probability that A

passes is 
2

5
 and that B fails is 

3

4
. The

probability that only one of them will pass
is-

[a]
3

20
[b]

6

20

[c]
9

20
[d] None of the above

Sol. [C]

P = 
– –

( ) ( )P AB P AB

2 3 3 1

5 4 5 4
   

6 3 9

20 20


 

120. A and B toss a coin alternately, the one who
gets tail first wins. If A tosses the coin first,
then the probability of his winning is

[a]
2

3
[b]

1

3

[c]
1

2
[d]

4

3

Sol. [A]

P (A) = P(H) + P (TH) + P (TTTTH) +.......

1 1 1 1 1 1 1 1
....

2 2 2 2 2 2 2 2
        

[Sum of infinite geometric series =
1

a

r
]
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2

1 1
22 2

3 31
1 42

  
   
 

121.

1. 2021-22 
48,238 

2. 5.18% 

[a] 1 [b] 2

[c] 1 2 [d]

Sol. [A]

3.96% 

122. 2021-22 4 

[a]

[b]

[c]

[d]

Sol. [A]

2021-22 

74,808 

54,031 

36,326 

18,755 

123. 2022-23 

[a]

[b]

2

1 1
22 2

3 31
1 42

  
   
 

121. Consider the following statements -

1. The actual fiscal deficit for the year 2021-
22 for Rajasthan has been Rs 48,238 crore.

2. It is 5.18% of the GSDP.

Select the correct statement-

[a] 1 only [b] 2 only

[c] Both 1 and 2 [d] None of theses

Sol. [A]

The actual gross fiscal deficit of Rajasthan is
3.96% of GSDP.

122. Arrange the 4 revenue receipts in 2021-22 in
descending order of their share -

[a] Own tax revenue - Share in central taxes -
Union Grants - Non-tax revenue

[b] Share in central taxes-Own tax revenue-
Non-tax revenue-Union Grants

[c]  Union Grants - Own tax revenue - Share
in central taxes - Non-tax revenue

[d] Own tax revenue – Union Grants – Share
in different revenue – Central taxes

Sol. [A]

Sector-wise contribution in revenue receipts
for the year 2021-22

Own tax revenue - Rs 74,808 crore
Share in central taxes - Rs 54,031 crore
Union Grants- Rs 36,326 crore
Non-tax revenue - Rs 18,755 crore

123. Arrange the sector wise budget allocation for
the year 2022-23 in descending order-

[a] Social and community services-Energy-
Rural development-Agriculture and allied
services

[b] Rural development-Social and community
services-Energy-Agriculture and allied
services
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[c]

[d]

Sol. [C]

2022-23 

1. 46% 78,631 

2. 16% 28,051.71 

3. 15% 25,260.33 

4. 7% 11,577.83 

5. 6% 10,026.87 

124.

1.

2. II 

3. JICA

[a] 1 

[b] 2 

[c]

[d]

Sol. [C]

125.

1.

2. (ESUCRL) 2014 

[a] 1 [b] 2

[c] 1 2 [d]

Sol. [C]

2014 
750 

[c] Social and community services-Rural
development-Energy-Agriculture and
allied services

[d] Energy-Social and community services-
Rural development-Agriculture and allied
services

Sol. [C]

Scheme wise budget allocation for the year
2022-23 -
1. Social and community services - 46% (Rs

78,631 crore)
2. Rural Development -16% (Rs 28,051.71

crore)
3. Energy - 15% (Rs 25,260.33 crore)
4. Agriculture and allied services – 7% (Rs

11,577.83 crore)
5. Transport - 6% - (Rs 10,026.87 crore)

124. The number of correctly matched pairs in the
following is/are-

1. Rajasthan Urban sector Development
Program - Asian Development Bank

2. Rajasthan State Highway Development
Program-II - World Bank

3. Rajasthan Water Sector Livelihood
Improvement Project-JICA.

[a] Only 1 pair
[b] Only 2 pairs
[c] All pairs are matched correctly
[d] None of the above

Sol. [C]
125. Consider the following statements-

1. Essel Saurya Urja Company of Rajasthan
Limited is a private sector partnership
undertaking of the Government of
Rajasthan.

2. It was formed (ESUCRL) in the year 2014.
Select the correct statement-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] None of these

Sol. [C]
Essel Saurya Urja Company of Rajasthan
Limited was formed in 2014. It was formed
with the objective of developing 750 MW
capacity solar parks in Jodhpur and Jaisalmer.
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126.

[a] 1 2015 [b] 1 2016

[c] 1 2017 [d]  1 2018

Sol. [B]

70 25 
2015 ; 2030 

17 1
2016 

127.

A. 1 1. 

B. 3 2. 

C. 5 3. 

D. 7 4. 
A B C D A B C D

(a) 1 3 2 4 (b) 3 4 1 2

(c) 4 3 2 1 (d) 4 1 2 3

Sol. [C]

128.

1. 7, 

2. 5

[a] 1 [b] 2

[c] 1 2 [d]

Sol. [C]

7 
100

5 39

129.

[a] 13 62 

[b] 16 100 

[c] 16 115 

[d] 17 218 
Sol. [C]

130.

1.

126. ‘Sustainable Development Goals’ came in
effect from -
[a] 1st January, 2015 [b] 1st January, 2016
[c] 1st January, 2017 [d] 1st January, 2018

Sol. [B]
The document titled “Transforming our
world; the 2030 Agenda for Sustainable
Development” was adopted on 25 September
2015 during the 70th session of the United
Nations General Assembly. It included 17
sustainable development goals. These were
implemented from 1 January 2016.

127. Match the following-
A. Sustainable Development  1. Affordable

Goal-1 and clean
energy

B. Sustainable Development    2.  Gender
Goal-3 Equality

C. Sustainable Development 3. Health and
Goal-5 Well-being

D. Sustainable Development     4. End of
Goal-7 poverty
A B C D A B C D

(a) 1 3 2 4 (b) 3 4 1 2
(c) 4 3 2 1 (d) 4 1 2 3

Sol. [C]
128. Consider the following statements-

1. Rajasthan’s best performance has been in
the affordable and clean energy sector i.e.
SDG-7.

2. Rajasthan’s worst performance has been in
the field of Gender Equality i.e. SGD-5.

Select the correct statement-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] None of these

Sol. [C]

Rajasthan’s best performance has been in SGD-
7 (score-100). Rajasthan’s worst performance
has been in SGD-5 (score-39).

129. How many goals and indicators have been
set in the third edition of S-D-G India Index?

[a] 13 goals 62 indicators
[b] 16 goals 100 indicators
[c] 16 goals 115 indicators
[d] 17 goals 218 indicators

Sol. [C]

130. Consider the following statements-

1. The nodal department for SDG
implementation in Rajasthan is “Planning
Department”.
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2. SDG 4 

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [D]

131.

[a]

[b]

[c]

[d]

Sol. [C]

MNIT 

132.

[a] 250 

[b] 225 

[c] 300 

[d] 200 

Sol. [B]

225 

133.

[a] 2025 [b] 2047

[c] 2030 [d] 2028

Sol. [C]

• 2030 

•

134. 5 2023

[a] [b]

2. 4 editions of Rajasthan SDG Status Report
have been released.

Choose the incorrect statement-

[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]

131. What is the purpose of Vidyarthi Darpan
app?

[a] Curriculum related assistance to the
students after Corona.

[b] Helping students to deal with mental
stress.

[c] Assistance for admission in Mahatma
Gandhi English Medium School.

[d] To increase children’s interest in
mathematics and science.

Sol. [C]

Vidyarthi Darpan App- has been made to help
students in the admission process in Mahatma
Gandhi English Medium School of the state.
This app has been developed by MNIT Jaipur.

132. Rain water harvesting has been made
mandatory for how many square feet of
building in Rajasthan?

[a] 250 square meters and above
[b] 225 square meters and above
[c] 300 square meters and above
[d] 200 square meters and above

Sol. [B]

The Rajasthan government has made rain water
harvesting system mandatory for plots and
buildings above 225 square meters and above.

133. By which year Indian Railways has set a
target of becoming a “Net Zero Carbon
Emitter”?
[a] 2025 [b] 2047
[c] 2030 [d] 2028

Sol. [C]

• Indian Railways has set a target of making
itself a “net zero carbon emitter” by 2030.

• Net Zero Carbon Emitter means the
railways will fulfill its energy required by
offsetting its carbon footprint.

134. Where was the 5th ASEAN-India Business
Summit-2023 held?
[a] Kuala Lumpur [b] Jaipur
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[c] [d]

Sol. [A]

• 5 6 
2023 

•

135.

1. 2022 14 

2.

3.

[a] 1

[b] 1 3

[c] 2 3

[d]

Sol. [D]

• 2022 14 
2023 

•

•

136.

[a] [b]

[c] [d]

Sol. [C]

137.

[a] [b]

[c] [d]

[c] Delhi [d] Bali
Sol. [A]

• The 5th ASEAN-India Business Summit
took place on 6 March 2023 in Kuala
Lumpur (Malaysia).

• The summit discussed ways to enhance
trade ties, connectivity and supply chain
resilience through ASEAN-India
cooperation.

135. With reference to Mineral Security
Partnership, consider the following
statements-

1. It was launched in June 2022 by the US with
14 developed countries.

2. India is its member.
3. It has been launched with the aim of

securing the supply chain of critical
minerals.

Choose the correct statement from the above-

[a] 1 only
[b] 1 and 3 only
[c]  2 and 3 only
[d] All the statements are correct.

Sol. [D]

Mineral Security Partnership-

• India has joined the alliance of 14
developed countries formed in June 2022
under the leadership of US in July 2023.

• It aims to create an uninterrupted supply
chain for critical minerals.

• India is the only developing country to be
a part of it.

136. Recently which country honored Prime
Minister Narendra Modi with “Order of the
Nile” award?

[a] Tanzania [b] Rwanda
[c]  Egypt [d] Ethiopia

Sol. [C]

Egypt conferred its highest civilian honor
“Order of the Nile” on Prime Minister
Narendra Modi.

137. Which city has been chosen by Indonesia for
the new capital?

[a] Jakarta [b] Nusantara
[c] Bandug [d] Surabaya
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Sol. [B]

138.

[a]

[b]

[c]

[d] (a) (b)

Sol. [D]

•

•

139.

[a] [b]

[c] [d]

Sol. [C]

•

•
IIIT 

140. 2020-21 

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1, 2

Sol. [A]

Sol. [B]

In view of sea level rise and infrastructure
threat due to sea water, Indonesia has decided
to move its capital from Jakarta to Nusantara
at its Borneo Island.

138. What is meant by “Kavach”, sometimes in
the news?

[a] Hackathon for cyber security.
[b] Train collision protection system.
[c] Protection mechanism for ultraviolet rays

coming from ozone.
[d] Both (a) and (b)

Sol. [D]

• The Kavach hackathon was related to
cyber security. Which was organized in
February and August.

• Kavach system which is a safety system
for trains to prevent collision which has
been prepared by Research Design
Standards Organization of Indian
Railways.

139. Where is the Innovation Lab of Artificial
Intelligence of Things being set up in
Rajasthan?

[a] Jaipur [b] Kota
[c] Jodhpur [d] Udaipur

Sol. [C]

• Artificial Intelligence of Things Innovation
Lab is being established in Jodhpur,
Rajasthan.

• Center of Excellence for Blockchain has
been set up at IIIT Kota.

140. With reference to All India Survey on
Higher

Education-2020-21, consider the following
statements-

1. Rajasthan ranks first in the country in terms
of number of universities.

2. On the basis of the number of colleges,
Rajasthan is in second place.

Select the correct statement/s from the above-

[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1a nor 2

Sol. [A]
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•

•

141.

[a] [b]

[c] [d]

Sol. [B]

27 2023 

142.

[a] 2001 

[b] 2016 

[c]

[d]

Sol. [B]

• 2001 

• 2017 

•

•

143.

[a] [b]

[c] [d]

Sol. [D]

144.

[a] [b]

[c] [d]

Sol. [A]

• Rajasthan ranks first in the country in terms
of number of universities.

• Rajasthan ranks fourth in terms of number
of colleges.

141. Where has the country’s first quantum
computing based telecommunication
network been set-up?

[a] Kota [b] New Delhi
[c] Jaipur [d] Mumbai

Sol. [B]

The country’s first quantum computing based
telecommunication network has been set-up
in New Delhi on 27 March 2023.

142. Which of the following statements is
incorrect with respect to the Shanghai
Cooperation Organisation?

[a] It was established in 2001.
[b] India-Pakistan joined it in 2016.
[c] Iran is its latest member.
[d] It is headquartered in Beijing (China).

Sol. [B]

• The Shanghai Cooperation Organization
was formed in 2001.

• India-Pakistan joined it in June 2017.
• Members - China, Pakistan, India, Russia,

Kazakhstan, Tajikistan, Uzbekistan, Iran,
Kyrgyzstan.

• Headquarters – Beijing (China)
143. Which is the American state that has passed

a resolution against Hindu phobia?

[a] New York [b] San Francisco
[c] Los Angeles [d] Georgia

Sol. [D]

Georgia has passed a resolution against Hindu
phobia.

144. Where was the foundation stone of the
Digital Science Park laid by the Prime
Minister?

[a] Kochi [b] Jaipur
[c] Thiruvananthapuram [d] Delhi

Sol. [A]

The foundation stone of the Digital Science
Park has been laid by the Prime Minister in
Kochi.
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145.

[a] [b]

[c] [d]

Sol. [A]

146.

[a] [b]

[c] [d]

Sol. [A]

INS 

147.

[a] [b]

[c] [d]

Sol. [B]

148.

[a] [b]

[c] [d]

Sol. [A]

18 

149. 2023 

[a] [b]

[c] [d]

Sol. [B]

2023

145. Where was the Pira-Kunfer tunnel
constructed?
[a] Jammu and Kashmir
[b] Kerala
[c] Himachal Pradesh
[d] Uttarakhand

Sol. [A]
The Peera-Kunfer tunnel has been built at
Ramban in Jammu and Kashmir. It is built on
the Udhampur-Ramban four lane highway.

146. Where was the passing out parade of the first
batch of Agniveers took place?
[a] Odisha [b] Delhi
[c] Uttarakhand [d] Chennai

Sol. [A]
The first passing out parade of Agniveers was
held at INS Chilka (Odisha).

147. Where was the country’s first Tropic of Cancer
Science Park built?

[a] Rajasthan [b] Gujarat
[c] Madhya Pradesh [d] West Bengal

Sol. [B]

The country’s first Tropic of Cancer Science
Park has been built in Gujarat. It is located in
Salal village of Sabarkatha district.

148. Recently, where has the World Economic
Forum established the Global Center of the
Fourth Industrial Revolution?

[a] Hyderabad [b] Ahmedabad
[c] Kanpur [d] Nagpur

Sol. [A]

The World Economic Forum has established
the 18th Global Center for the Fourth
Industrial Revolution in Hyderabad, India.

149. Where was the Indian Open Badminton-2023
organized?

[a] Nagpur [b] New Delhi
[c]  Pune [d] Chennai

Sol. [B]

Indian Open Badminton-2023
Event - New Delhi
Winner Male - Kunlabut (Thailand)

        Female - Aan Si Young (South Korea)



Page 46

150.  1

[a]

[b]

[c]

[d]

Sol. [D]

1'' 

150. Who is the author of “Chief Minister’s Diary
No. 1"?

[a] Ashok Gehlot
[b] Yogi Adityanath
[c] Naveen Patnaik
[d] Hemant Biswa Sarma

Sol. [D]

"Chief Minister’s Diary No.1" is a book by
Hemant Biswa Sarma. Himanta Biswa Sarma
is the Chief Minister of Assam.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
A C A D B B A A B A D B D B C
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
A A B D B D B D B A D A C D A
31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
B D A C A B B B C C D C B D C
46 47 48 49 50 51 52 53 54 55 56 57 58 59 60
D B A C A B A D D A A D B A D
61 62 63 64 65 66 67 68 69 70 71 72 73 74 75
D B D A D A C D C D B B C A B
76 77 78 79 80 81 82 83 84 85 86 87 88 89 90
B D C  B B B D A A A C D D C B
91 92 93 94 95 96 97 98 99 100 101 102 103 104 105
C A B D C D A B D D A D A D A

106 107 108 109 110 111 112 113 114 115 116 117 118 119 120
B A A D D D C A A A B C C C A

121 122 123 124 125 126 127 128 129 130 131 132 133 134 135
A A C C C B C C C D C B C A D

136 137 138 139 140 141 142 143 144 145 146 147 148 149 150
C B D C A B B D A A A B A B D
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